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NEW QUESTION 1
Refer to the exhibit.

Based on output shown in the exhibit, which two commands can be used by SD-WAN rules? (Choose two.)

A. set cost 15.

B. set source 100.64.1.1.

C. set priority 10.

D. set load-balance-mode source-ip-based.

Answer: CD

NEW QUESTION 2
Which diagnostic command you can use to show interface-specific SLA logs for the last 10 minutes?

A. diagnose sys virtual-wan-link health-check
B. diagnose sys virtual-wan-link log

C. diagnose sys virtual-wan-link sla-log

D. diagnose sys virtual-wan-link intf-sla-log

Answer: C

NEW QUESTION 3
Refer to exhibits.

Exhibit A shows the firewall policy and exhibit B shows the traffic shaping policy.
The traffic shaping policy is being applied to all outbound traffic; however, inbound traffic is not being evaluated by the shaping policy.
Based on the exhibits, what configuration change must be made in which policy so that traffic shaping can be applied to inbound traffic?

A. The reverse shaper option must be enabled and a traffic shaper must be selected

B. The guaranteed-10mbps option must be selected as the reverse shaper option.

C. A new firewall policy must be created and SD-WAN must be selected as the incoming interface.
D. The guaranteed-10mbps option must be selected as the per-IP shaper option
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Answer: B

NEW QUESTION 4
Refer to the exhibit.

What must you configure to enable ADVPN?

A. On the hub VPN, only the device needs additional phase one sett

B. ADVPN should only be enabled on unmanaged FortiGate devices.

C. Each VPN device has a unique pre-shared key configured separately on phase one
D. The protected subnets should be set to address object to all (0.0 .0. o/0).

Answer: C

NEW QUESTION 5
Refer to exhibits.

Exhibit A shows the source NAT global setting and exhibit B shows the routing table on FortiGate. Based on the exhibits, which two statements about increasing
the port2 interface priority to 20 are true?
(Choose two.)

A. All the existing sessions that do not use SNAT will be flushed and routed through port1.
B. All the existing sessions will continue to use port2, and new sessions will use portl.

C. All the existing sessions using SNAT will be flushed and routed through port1.

D. All the existing sessions will be blocked from using portl and port2.

Answer: BC

NEW QUESTION 6

Refer to the exhibit.

Which two statements about the debug output are correct? (Choose two )

A. The debug output shows per-IP shaper values and real-time readings.

B. This traffic shaper drops traffic that exceeds the set limits.
C. Traffic being controlled by the traffic shaper is under 1 Kbps.

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version NSE7_SDW-6.4 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/NSE7_SDW-6.4-dumps.html (36 Q&As)

D. FortiGate provides statistics and reading based on historical traffic logs.
Answer: AB

NEW QUESTION 7
Refer to exhibits.

Exhibit A shows the performance SLA exhibit B shows the SD-WAN diagnostics output. Based on the exhibits, which statement is correct?

A. Both SD-WAN member interfaces have used separate SLA targets.

B. The SLA state of portl is dead after five unanswered requests by the SLA servers.
C. Portl became dead lecause no traffic was offload through the egress of portl.

D. SD-WAN member interfaces are affected by the SLA state of the inactive interface

Answer: B

NEW QUESTION 8

Which statement reflects how BGP tags work with SD-WAN rules?

A. BGP tags match the SD-WAN rule based on the order that these rules were installed.

B. BGP tags require that the adding of static routes be enabled on all ADVPN interfaces

C. Route tags are used for a BGP community and the SD-WAN rules are assigned the same tag
D. VPN topologies are formed using only BGP dynamic routing with SD-WAN

Answer: D

NEW QUESTION 9

In the default SD-WAN minimum configuration, which two statements are correct when traffic matches the default implicit SD-WAN rule? (Choose two )
A. Traffic has matched none of the FortiGate policy routes.

B. Matched traffic failed RPF and was caught by the rule.

C. The FIB lookup resolved interface was the SD-WAN interface.

D. An absolute SD-WAN rule was defined and matched traffic.

Answer: AC

NEW QUESTION 10
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What are two roles that SD-WAN orchestrator plays when it works with FortiManager? (Choose two )

A. It configures and monitors SD-WAN networks on FortiGate devices that are managed by FortiManager.

B. It acts as a standalone device to assist FortiManager to manage SD-WAN interfaces on the managed FortiGate devices.

C. It acts as a hub FortiGate with an SD-WAN interface enabled and managed along with other FortiGate devices by FortiManager.
D. It acts as an application that is released and signed by Fortinet to run as a part of management extensions on FortiManager.

Answer: BD

NEW QUESTION 10
Which statement about using BGP routes in SD-WAN is true?

A. Adding static routes must be enabled on all ADVPN interfaces.

B. VPN topologies must be form using only BGP dynamic routing with SD-WAN
C. Learned routes can be used as dynamic destinations in SD-WAN rules

D. Dynamic routing protocols can be used only with non-encrypted traffic

Answer: C

NEW QUESTION 15

The Leader of IT Certification visit - https://www.certleader.com



CertLeader-m 100% Valid and Newest Version NSE7_SDW-6.4 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/NSE7_SDW-6.4-dumps.html (36 Q&As)

Thank You for Trying Our Product

* 100% Pass or Money Back
All our products come with a 90-day Money Back Guarantee.
* One year free update
You can enjoy free update one year. 24x7 online support.
* Trusted by Millions
We currently serve more than 30,000,000 customers.
* Shop Securely

All transactions are protected by VeriSign!

100% Pass Your NSE7_SDW-6.4 Exam with Our Prep Materials Via below:

https.//www.certleader.com/NSE7_SDW-6.4-dumps.html

The Leader of IT Certification visit - https://www.certleader.com


https://www.certleader.com/NSE7_SDW-6.4-dumps.html
http://www.tcpdf.org

